BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EC-FIFTH / (MO/19) / 2019-2020

By the order of Examination committee, the following is the result of BE-EC - FIFTH Semester held in the month of NOV-2019

Date : DEC-2019

SESSI	ION : 2019-2020 CLASS	BE-E	С		В	RANCH	: ENGI	NEERING						SEMES	TER / TR	MESTER	: FIFT	Н		MONTH OF EXA	M : NOV	7-2019
		U	EC5	201(3)	EC5	203(3)	EC5	205(3)	EE42	207(4)	MSH	1131(3)	EE42	208(2)	EC52	202(2)	EC5	204(2)	TOTAL CREDIT	TOTAL	ĺ	
ROLL NO	NAME	L		201(4)	£	205(3)	HU4001(3)			207(3)	£	201(4)		001(3)		201(4)		201(4)	POINTS	CREDITS	SGPA	REMARKS
	J		GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6020/17	KUMAR SARTHAK	U	С	15.0	D	12.0	D	12.0	D	16.0	В	18.0	B+	14.0	В	12.0	B+	14.0	133.0	30.0	4.43	-
	<u> </u>	L	C	20.0	-	-	-	-	-	-	F	0.0	-	-	-	-	-	-				
BE/6030/17	ADITYA PRANAV	U	С	15.0	С	15.0	С	15.0	D	16.0	В	18.0	B+	14.0	В	12.0	Α	16.0	121.0	32.0	3.78	_
BE/0030/1/	ADIT TATIONAL	L	-	-	F	0.0	-	-	-	-	F	0.0	-	-	F	0.0	-	-	121.0	32.0	5.70	
BE/6042/17	HRISHABH RAJ SINGH	U	С	15.0	С	15.0	D	12.0	D	16.0	В	18.0	B+	14.0	B+	14.0	B+	14.0	138.0	34.0	4.05	_
BE/0042/17	IIKISHABII KAJ SINGII	L	C	20.0	-	-	-	-	-	-	F	0.0	-	-	F	0.0	-	-	156.0	34.0	4.03	_
BE/6092/17	LOVELY	U	В	18.0	С	15.0	С	15.0	B+	28.0	A	24.0	A+	18.0	A	16.0	A+	18.0	172.0	26.0	6.62	
BE/00/2/17	EGVEET	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	C	20.0	172.0	20.0	0.02	_
BE/6094/17	AMAN RAJ	U	B+	21.0	C	15.0	C	15.0	В	24.0	B+	21.0	Ex	20.0	B+	14.0	A	16.0	182.0	30.0	6.07	_
BE/0094/17	AWANKAJ	L	-	-	-	-	-	-	-	-	D	16.0	-	-		-	C	20.0	102.0	30.0	0.07	
BE/6102/17	ADARSH RAJ	U	С	15.0	C	15.0	С	15.0	D	16.0	A	24.0	A	16.0	B+	14.0	B+	14.0	144.0	29.0	4.97	
BE/0102/17	ADARSII KAJ	L	-	-	-	-	-	-	-	-	F	0.0	С	15.0	-	-	-	-	144.0	29.0	4.97	-
DE/6107/17	CMEHA BAI	U	B+	21.0	B+	21.0	В	18.0	В	24.0	A+	27.0	A	16.0	A	16.0	A+	18.0	209.0	30.0	6,97	
BE/6107/17	SNEHA RAJ	L	-	-	-	-	-	i -	-	-	-	-	-	-	С	20.0	B+	28.0	209.0	30.0	6.97	-
DE // 111 /17	DALL AVENUADE	U	B+	21.0	С	15.0	В	18.0	B+	28.0	A	24.0	B+	14.0	В	12.0	A	16.0	176.0	26.0	6,77	
BE/6111/17	PALLAVI KUMARI	L	-	-	-	-	-	-	-	-	-	-	-	- 1	-	-	B+	28.0	1 /6.0	26.0	6.77	-

MSH1131(3) EE4208(2) EC5202(2)	: DIGITAL COMMUNICATION SYSTEM : MICROWAYE ENGINEERING : DATA COMMUNICATION : DIGITAL SIGNAL PROCESSING : PRINCIPLES OF MANAGEMENT : DIGITAL SIGNAL PROCESSING LAB : DIGITAL SIGNAL PROCESSING LAB : DIGITAL COMMUNICATION LAB : MICROWAYE I AB	EC4205(3) : HU4001(3) : EC4207(3) : MA1201(4) : EC2001(3) : MA2201(4) : :	DIGITAL ELECTRONICS MICROPROCESSOR AND MICROCONTROLLER FOREIGN LANGUAGE (FRENCH) ELECTROMAGNETIC THEORY ENGINEERING MATHEMATICS PRINCIPLES OF ELECTRONICS ENGINEERING ADVANCED ENGINEERING MATHEMATICS ENGINEERING MECHABUICS
EC5204(2)	: MICROWAVE LAB	AM1201(4)	ENGINEERING MECHANICS
			Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EC-FIFTH / (MO/19) / 2019-2020

By the order of Examination committee, the following is the result of BE-EC - FIFTH Semester held in the month of NOV-2019

Date : DEC-2019

SESSI	ION : 2019-2020 CL	ASS : BE-EC	2		В	RANCH	: ENGI	NEERING						SEMES	TER / TR	MESTER	: FIFT	Н		MONTH OF EXA	M : NOV	-2019
		U	EC52	201(3)	EC52	203(3)	EC5	205(3)	EE42	207(4)	MSH	1131(3)	EE4	208(2)	EC52	202(2)	EC5	204(2)				
ROLL NO	NAME	L	EC32	201(4)	EC4	205(3)	HU4	1001(3)	EC42	207(3)	MA1	201(4)	EC2	001(3)	MA2	201(4)		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6014/17	DEBDEEP CHATTERJEE	U	В	18.0	С	15.0	В	18.0	С	20.0	A	24.0	B+	14.0	В	12.0	B+	14.0	135.0	22.0	6.14	_
		L	-	-	-	-	-		-	-	-	-	-	-	-	-	-					
BE/6025/17	PREETI KUMARI	U	B+	21.0	A	24.0	B+	21.0	В	24.0	A	24.0	A+	18.0	A+	18.0	A+	18.0	168.0	22.0	7.64	-
		L	- B	18.0	- B+	21.0	- B+	21.0	- B+	28.0	-	27.0	- B+	14.0	-	16.0	-	- 160				
BE/6031/17	SUVIDYA SHARMA		В	18.0	B+	21.0	B+	21.0	B+	28.0	A+	27.0	B+	14.0	A	16.0	A	16.0	161.0	22.0	7.32	-
		TI L	В	18.0	B+	21.0	R	18.0	В	24.0	A+	27.0	Ex	20.0	B+	14.0	A+	18.0		,		
BE/6033/17	HARSHIT KUMAR ARYA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	160.0	22.0	7.27	-
		U	В	18.0	B+	21.0	В	18.0	A	32.0	B+	21.0	A+	18.0	В	12.0	B+	14.0				
BE/6038/17	ASHUTOSH KUMAR OJHA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	154.0	22.0	7.00	-
BE/6045/17	JAY SHANKAR DUBEY	U	B+	21.0	A	24.0	A	24.0	A+	36.0	A	24.0	A+	18.0	Ex	20.0	A+	18.0	185.0	22.0	8.41	_
BE/0043/17	JAI SHANKAR DUBET	L	-	-	-	-	-	-	-	-	-	-	-	-		-	-		165.0	22.0	0.41	
BE/6058/17	RISHABH KUMAR SINGH	U	B+	21.0	В	18.0	В	18.0	В	24.0	A	24.0	Α	16.0	A	16.0	A+	18.0	155.0	22.0	7.05	_
B2 003 0 17		L	-	-	-	-	-	-	-	-	-	-	-	-		-	-		13310	22.0	7.00	
BE/6059/17	KRITIKA SINHA	U	В	18.0	B+	21.0	A	24.0	A	32.0	A+	27.0	A	16.0	A	16.0	A+	18.0	172.0	22.0	7.82	_
		L	-	-	-	-	-	-		-	-	-	-	-		-	-	-				
BE/6062/17	RAKESH KUMAR	U	В	18.0	В	18.0	В	18.0	B+	28.0	B+	21.0	A	16.0	B+	14.0	B+	14.0	147.0	22.0	6.68	-
		L II	B+	21.0	C	15.0	- C	15.0	В	24.0	B+	21.0	A	16.0	В	12.0	B+	14.0				
BE/6072/17	VEDANT PANDEY	T.	ъ⊤ -	21.0	-	15.0	-	13.0	- Б	24.0	- DT	21.0	- A	10.0	- Б	12.0	- Β⊤	14.0	138.0	22.0	6.27	-
	<u> </u>	U	B+	21.0	В	18.0	В	18.0	B+	28.0	B+	21.0	A+	18.0	B+	14.0	A+	18.0				
BE/6078/17	AISHWARYA SINGH	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	156.0	22.0	7.09	-
BE/6087/17	SHIVANGI KUMARI	U	B+	21.0	В	18.0	В	18.0	В	24.0	A	24.0	Ex	20.0	В	12.0	A	16.0	153.0	22.0	6.95	
DE/008//1/	SHIVANGI KUMARI	L	-	-	-	-	-	-	-	-	-	-	-	-	- [-	-	-	133.0	22.0	0.95	-

EC5201(3) EC5203(3) EC5205(3) : DIGITAL ELECTRONICS : MICROPROCESSOR AND MICROCONTROLLER : FOREIGN LANGUAGE (FRENCH) : DIGITAL COMMUNICATION SYSTEM : MICROWAVE ENGINEERING EC3201(4) EC4205(3) DATA COMMUNICATION HU4001(3) EE4207(4) DIGITAL SIGNAL PROCESSING EC4207(3) ELECTROMAGNETIC THEORY PRINCIPLES OF MANAGEMENT MSH1131(3) MA1201(4) ENGINEERING MATHEMATICS EE4208(2) DIGITAL SIGNAL PROCESSING LAB EC2001(3) PRINCIPLES OF ELECTRONICS ENGINEERING
ADVANCED ENGINEERING MATHEMATICS EC5202(2) DIGITAL COMMUNICATION LAB MA2201(4) EC5204(2) MICROWAVE LAB

Controller of Examinations

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EC-FIFTH / (MO/19) / 2019-2020

By the order of Examination committee, the following is the result of BE-EC - FIFTH Semester held in the month of NOV-2019

Date : DEC-2019

SESS	ION: 2019-2020 CLA	ASS : BE-E	С		В	RANCH	: ENGIN	NEERING						SEMES	TER / TR	IMESTER	: FIFT	Н		MONTH OF EXA	M : NOV	/-2019
ROLL NO	NAME	U L		5201(3) 201(4)		203(3) 205(3)		205(3) 4001(3)		207(4) 207(3)		1131(3) 201(4)		208(2) 001(3)		202(2) 2201(4)	EC5	204(2)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6095/17	SAURAV KUMAR RAM	U	B+	21.0	В	18.0	В	18.0	C	20.0	B+	21.0	B+	14.0	B+	14.0	A+	18.0	144.0	22.0	6.55	1
BE/0093/17	SAURAV KUWAK KAWI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	144.0	22.0	0.55	-
BE/6101/17	VINEET ANUDEEP BHENGRA	U	В	18.0	С	15.0	C	15.0	C	20.0	B+	21.0	A	16.0	В	12.0	B+	14.0	151.0	26.0	5.81	
BE/0101/17	VINEET ANOBEEF BHENGKA	L	-	-	-	-	-	-	_	-	С	20.0	-	-	-	-	-		131.0	20.0	5.61	-
BE/6106/17	A CHIIV A CINICH	U	B+	21.0	В	18.0	В	18.0	B+	28.0	A+	27.0	A	16.0	B+	14.0	A	16.0	158.0	22.0	7.10	
DE/0100/17	ASHIKA SINGH	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	138.0	22.0	7.18	-

EC5201(3)	: DIGITAL COMMUNICATION SYSTEM	EC3201(4)	: DIGITAL ELECTRONICS
EC5203(3)	: MICROWAVE ENGINEERING	EC4205(3)	: MICROPROCESSOR AND MICROCONTROLLER
EC5205(3)	: DATA COMMUNICATION	HU4001(3)	: FOREIGN LANGUAGE (FRENCH)
EE4207(4)	: DIGITAL SIGNAL PROCESSING	EC4207(3)	: ELECTROMAGNETIC THEORY
MSH1131(3)	: PRINCIPLES OF MANAGEMENT	MA1201(4)	: ENGINEERING MATHEMATICS
EE4208(2)	: DIGITAL SIGNAL PROCESSING LAB	EC2001(3)	: PRINCIPLES OF ELECTRONICS ENGINEERING
EC5202(2)	: DIGITAL COMMUNICATION LAB	MA2201(4)	: ADVANCED ENGINEERING MATHEMATICS
EC5204(2)	: MICROWAVE LAB	-	

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EC-FIFTH / (MO/19) / 2019-2020

By the order of Examination committee , the following is the result of BE-EC - FIFTH Semester held in the month of NOV-2019

Date : DEC-2019

SESSI	ION : 2019-2020 CLASS	: BE-E	EC		В	RANCH	: ENGI	NEERING						SEMES	TER / TR	IMESTER	: FIFT	Н		MONTH OF EXA	M : NOV	7-2019
ROLL NO	NAME	U L		201(3) 201(4)		203(3) 203(4)		205(3) 4001(3)		207(4) 207(3)		1131(3) 201(4)		208(2)		202(2) 201(4)		204(2) 201(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6039/17	MUSKAN CHOUDHURY	U	B+	21.0	В	18.0	В	18.0	A	32.0	A+	27.0	A+	18.0	В	12.0	A	16.0	182.0	26.0	7.00	_
BE/0039/17	Modern Choodher	L	-	<u> </u>	C	20.0	-	-		-	-	-	-		-	-	-	-	102.0	20.0	7.00	
BE/6040/17	RAHUL DEY	U	С	15.0	С	15.0	С	15.0	С	20.0	A	24.0	A+	18.0	B+	14.0	A	16.0	171.0	29.0	5.9	_
B2#0010/17	lamez bz i	L		-	D	16.0	В	18.0		-	-	-	-	-		-		-	171.0	25.0	3.7	
BE/6063/17	KUMAR GAURAV	U	D	12.0	D	12.0	С	15.0	D	16.0	С	15.0	B+	14.0	B+	14.0	A	16.0	129.0	29.0	4.45	_
		L	<u></u>	-	F	0.0			С	15.0	-	-	-	-		-		-				
BE/6075/17	SOURAV	U	В	18.0	D	12.0	В	18.0	С	20.0	В	18.0	A	16.0	B+	14.0	B+	14.0	166.0	30.0	5.53	_
		L	С	20.0	D	16.0				-	-	-	-	-		-		-				
BE/6100/17	SONALI RAI	U	В	18.0	В	18.0	С	15.0	В	24.0	A	24.0	A	16.0	B+	14.0	B+	14.0	177.0	29.0	6.10	_
	ļ	L	<u> </u>		D	16.0	-		В	18.0		-	-	-	-	-	-	-				
BE/6108/17	RISHAV KUMAR	U	D	12.0	D	12.0	C	15.0	С	20.0	B+	21.0	B+	14.0	В	12.0	B+	14.0	120.0	30.0	4.00	_
	<u> </u>	L			F	0.0	-	-		-	F	0.0	-	-	-	-		-				
BE/6109/17	RIYA SHREE	U	B+	21.0	В	18.0	В	18.0	B+	28.0	A	24.0	A	16.0	B+	14.0	A	16.0	199.0	30.0	6.63	_
		L	-	-	В	24.0	-	-	- 1	-	С	20.0	-	-	-	-	-	-		2 3.0		

: DIGITAL ELECTRONICS : ANALOG COMMUNICATION SYSTEM : FOREIGN LANGUAGE (FRENCH) EC5201(3) EC5203(3) EC5205(3) DIGITAL COMMUNICATION SYSTEM MICROWAVE ENGINEERING EC3201(4) EC4203(4) DATA COMMUNICATION HU4001(3) EE4207(4) DIGITAL SIGNAL PROCESSING EC4207(3) ELECTROMAGNETIC THEORY MSH1131(3) PRINCIPLES OF MANAGEMENT MA1201(4) ENGINEERING MATHEMATICS DIGITAL SIGNAL PROCESSING LAB PRINCIPLES OF ELECTRONICS ENGINEERING EE4208(2) EC2001(3) EC5202(2) DIGITAL COMMUNICATION LAB MA2201(4) ADVANCED ENGINEERING MATHEMATICS EC5204(2) : MICROWAVE LAB AM1201(4) ENGINEERING MECHANICS

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EC-FIFTH / (MO/19) / 2019-2020

By the order of Examination committee, the following is the result of BE-EC - FIFTH Semester held in the month of NOV-2019

Date : DEC-2019

	SESSI	ON : 2019-2020 CLASS :	BE-E	C		Bl	RANCH	: ENGI	NEERING						SEMES	TER / TR	IMESTER	: FIFT	Н		MONTH OF EXA	M : NOV	-2019
R	OLL NO	NAME	U L		201(3) 201(4)	EC52 EC42	03(3)		205(3) 4001(3)		207(4) 207(3)		1131(3) 201(4)	EE42 EC20	208(2) 001(3)		202(2) 203(4)		204(2) 201(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
RI	E/6113/17	NAVNEET SHARMA	U	D	12.0	F	0.0	D	12.0	С	20.0	В	18.0	A	16.0	B+	14.0	B+	14.0	106.0	30.0	3.53	
Бі	20113/17	IVAVIVLE I SHARWA	L	-	-	-	-	-	-	-	-	F	0.0	-	-	F	0.0	-	-	100.0	50.0	3.33	_

EC5201(3) EC5203(3) EC5205(3) EE4207(4) MSH1131(3) EE4208(2) EC5202(2) EC5204(2)	: DIGITAL COMMUNICATION SYSTEM : MICROWAYE ENGINEERING : DATA COMMUNICATION : DIGITAL SIGNAL PROCESSING : PRINCIPLES OF MANAGEMENT : DIGITAL SIGNAL PROCESSING LAB : DIGITAL COMMUNICATION LAB : MICROWAYE LAB	EC3201(4) EC4205(3) HU4001(3) EC4207(3) MA1201(4) EC2001(3) EC4203(4) AM1201(4)	DIGITAL ELECTRONICS MICROPROCESSOR AND MICROCONTROLLER FOREIGN LANGUAGE (FRENCH) ELECTROMAGNETIC THEORY ENGISEERING MATHEMATICS PRINCIPLES OF ELECTRONICS ENGINEERING ANALOG COMMUNICATION SYSTEM ENGINEERING MECHANICS
EC3204(2)	. MICKOWAVE LAB	AW11201(4)	Disclaimer Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.